Iep

w HART

n SR TIRENE IR

w BB, PTH T R E S n O B AR A&

5483-02 » CzB ) wiMaHRLSIFERRE

5483-03 > CzC > MKIWHEAEGERRERE

122

T % P X - TR RS . o
H H(|AE A i)

Order No. Vodel T ) AR (k) LWxH WAL %3 NW.
5483 CZA-8C ®12X176 $10X160 60X50X55 M8X1.25 @ 80kgf 1.4kg
>

R

» HAGEFHIhRE

w SRR TR

w AR, AT R AR e S v R A A i

w LTRSS E R AR, (T RS T (.

FT Ak P N - JHEE RS ,
=) =p=! 4 i
Order No. Model ERECH) Al (k) LxWxH AL @il
5483 CZB-8C d12X176 ®10X150 60X50X55 M8X1.25 | 80kgi []

0
U
U
0

RpEk

» HAGEHIhRE

w [fEIOFT, —EEAF, WEEF

w SRTTREE e

w AR AT S R v R R AR S s

w LTS E R AR, (RS T (.

1A e TG N - = JEHEE RS . i

= | +E |k A I

Order No. | Model T CF) "I ) R () LXWxH AL &l NW.
5483-01 CZC-10B ®20X170 $14X170 d12X127 73X50X55 M8X1.25 100kgf 2.0kg
5483-02 CZC-10DL ®20X350 ®14X165 ®12X129 117X50X55 M10X1.5 130kgf 3.5kg

http://www.jinhongmc.com HEEFT AT, 117 'H 2458


javascript:StranBody()
javascript:StranBody()
javascript:StranBody()
http://e.jinhongmc.com/cn/ginchan/5484-c55.html
http://e.jinhongmc.com/cn/ginchan/5484-c55.html
http://e.jinhongmc.com/cn/ginchan/5482-c53.html
http://e.jinhongmc.com/cn/ginchan/5482-c53.html
javascript:;
http://e.jinhongmc.com/cn/index.html
http://e.jinhongmc.com/cn/index.html

